11. BESERBOBE(T) - KFAAODHEF

(FAFE1H 1HBIE, AL N)

BT (T « K5 PR 294 R 304F T3 14 BFN24F SFN3F
T % 136,909 138,442 140,004 141,802 143,195
N w1 T H 6,485 6,776 7,001 7,068 7,046
2 T H 5,259 5,425 5,421 5,614 5,804
3 T H 1,539 1,532 1,518 1,611 1,643
fif w1 T H 1,455 1,411 1,426 1,418 1,504
2 T H 2,404 2,446 2,502 2,518 2,523
ES w1 T H 2,648 2,670 2,685 2,679 2,633
2 T H 2,427 2,453 2,476 2,428 2,444
3 T H 2,876 2,834 3,005 3,004 3,012
4 T H 528 532 528 508 490
5 T H 1,340 1,216 1,226 1,276 1,310
3 w1 T H 1,823 1,808 1,838 1,842 1,827
2 T H 2,809 2,890 2,899 2,908 2,926
3 T H 974 991 990 988 955
B gt BT 1 T H 2,951 2,928 2,910 2,906 2,847
2 T H 2,645 2,679 2,739 2,688 2,627
3 T H 522 553 553 602 607
4 T H 4,647 4,568 4,553 4,471 4,510
5 T H 970 980 965 979 987
T B 1 T H 945 944 936 981 993
2 T H 2,076 2,086 2,061 2,033 2,118
3 T H 1,394 1,416 1,464 1,499 1,527
4 T H 1,625 1,619 1,625 1,594 1,590
5 T H 2,004 2,016 2,025 2,075 2,043
6 1 H 2,143 2,191 2,179 2,203 2,242
7 T H 1,794 1,813 1,814 1,810 1,780
N ¥ Tk A 343 352 353 352 343
K £ JiES #r 0 0 0 0 0
N ¥ [i] 48 45 43 51 48
N e = 6 7 8 8 8
K o i3 7 15 18 18 20 18
H fhi % 538 581 675 666 649
wAHE M o1 T H 1,066 1,100 1,103 1,084 1,270
2 T H 1,165 1,203 1,213 1,228 1,253
3 T H 1,182 1,135 1,198 1,187 1,204
m oM 1 T H 1,198 1,169 1,208 1,208 1,179
2 1T H 855 863 879 877 853




WY (T7) « K% Rk 294F FR% 304 %314 SFn24E SFN34E

B 1 T H 3,919 3,869 3,879 3,958 3,957

2 T H 3,583 3,858 3,909 3,947 3,989

3 T H 3,816 3,838 3,820 3,836 3,886

4 T H 1,631 1,640 1,619 1,634 1,597

5 T H 2,148 2,145 2,127 2,087 2,090

K 1 T H 689 692 673 673 671

2 T H 1,481 1,457 1,454 1,465 1,450

3 T H 3,296 3,551 3,628 3,626 3,644

1 T H 2,177 2,272 2,332 2,451 2,682

2 T H 968 991 1,068 1,227 1,257

3 T H 4,054 4,038 4,009 4,018 4,056

g A 1 T H# 2,122 2,145 2,163 2,224 2,274

2 T H 1,733 1,751 1,757 1,751 1,758

3 T H 1,502 1,615 1,715 1,869 2,081

4 T H 1,608 1,598 1,597 1,585 1,625

5 T H 1,158 1,200 1,190 1,339 1,447

6 1T H 1,921 1,926 1,964 1,975 1,981

7 T H 4,165 4,220 4,288 4,346 4,353

8 T H 1,698 1,679 1,740 1,755 1,756

H ¥ A 1 T H 96 92 86 81 84

ik BFH o1 T H 893 907 951 963 972

2 T H 1,332 1,338 1,382 1,416 1,448

FH o1 T B8 1,059 1,087 1,108 1,116 1,067

2 T H 1,179 1,209 1,204 1,227 1,262

& 1 T H 480 477 487 622 640

2 T H 366 363 357 362 369

3 T H 826 853 858 885 875

4 T H 1,527 1,531 1,541 1,552 1,568

e I iy 55 56 56 60 60

HryE 1 T B 3,942 3,958 3,990 4,036 3,938

2 T H 1,555 1,550 1,529 1,595 1,565

3 T H 1,710 1,705 1,724 1,711 1,726

4 T H 1,672 1,682 1,700 1,718 1,741

K o =4 Il 67 62 54 42 37

= /A 1 T H 1,509 1,578 1,619 1,682 1,686

2 T H 2,658 2,659 2,738 2,824 2,878

3 T H 2,954 2,995 3,017 3,007 2,980

4 T H 2,617 2,634 2,688 2,793 2,974

K o H 15 0 0 0 0 0

H 5 1 T H 1,164 1,162 1,158 1,136 1,128

2 T H 1,405 1,385 1,377 1,390 1,403

X F £ N B K 1,224 1,183 1,166 1,178 1,164

X F N AN M K 251 241 245 256 263
Bk T B AR



